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NEW QUESTION 1
Refer to the exhibit.

Access-1= debug 12mac event
Access-1= debug destination buffer
Access-1= page

debug buftfer

2020-05-06:22:32:52. 601427 |12mac-mgrd |LOG_DEBUG | AMM | - | L2ZMAC | L2ZMAC_EVENT |macmgr_m
ac_manager_handle_mac_event(1311), MAC=00:50:79:66:68:01, VLAN=1, Port=1/1/1 i
trying to be inserted

2020-05-06:22:32:52. 602027 |12mac-mgrd |LOG_DEBUG | AMM | - | L2MAC | L 2MAC_EVENT |macmgr_m
ac_manager_handle_mac_event(1328), MAC=00:50:79:66:68:01 was successfully inserted

r_
5

What command will display the debug I2mac events?

A. show module L2ZMAC

B. show debug terminal

C. show debug buffer module L2MAC
D. show debug all

Answer: C
NEW QUESTION 2

Click on the colored box that corresponds with the line that best represents Multicast traffic flow.
Answer Area

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Diagram Description automatically generated
Blue Box

NEW QUESTION 3
What is an available command on an Aruba AOS-CX switch that would back up the secondary image to a secure remote repository?

A. backup secondary sftp://admin@210.1.1.21/GL.10.04.0003.swi
B. copy secondary sftp://admin@10.1.1.21/GL.10.04.0003.swi
C. copy sftp://admin@10.1.1.21/GL.10.04.0003.swi secondary
D. copy secondary tftp://admin@10.1.1.21/GL.10.04.0003.swi

Answer: B

NEW QUESTION 4
The customer has 778 developers testing computer games on the network. Which two actions resolve Broadcast storms? (Choose two.)

A. Manually disable the redundant link to immediately resolve the impacted portion of the network.

B. Utilize Spanning Tree to dynamically disable all redundant links in a segment.

C. Setting switch ports to half-duplex will resolve Broadcast storms using Carrier Sense Multiple-Access Collision Detection (CSMA/CD).
D. Enable single Area Open Shortest Path First (OSPF) on all Layer 2 switches, but do not enable routing.

E. Utilize Spanning Tree to dynamically block Designated ports in addition to Alternate ports.

Answer: AB
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NEW QUESTION 5

Match the switching term to the correct definition.

Term

Broadcast Domain

Collision Domain

CSMA/CD

Forwarding Table

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Term

Broadcast Domain

Collision Domain

Broadcast Domain

CSMA/CD

Forwarding Table

Forwarding Table

NEW QUESTION 6

Place the OSI Layers in the correct order. Arrange them from least to greatest, starting with Layer 1 on the top, and progressing to Layer 7 on the bottom.

OSI Laver

CSMA/CD

Collision Domain

Application Layer

Data Link Layer

Network Layer

Physical Layer

Presentation Layer

Session Layer

Transport Layer

)
©
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Definition

defines the group of devices that are on the same
network segment that are capable of receiving and
responding to frames destined to FF:FF:FF:FF:FF:FF

the FIB used by switches matching known-source mac-
addresses to the layer one port they are learned on

the mechanism used by Compute NICs and
Switchports operating in half-duplex to detect and
recover from frame collisions

the segment of a network connected by a shared
medium, such as a hub, that is affected when two or
more frames are sent at the same time

Definition

defines the group of devices that are on the same
network segment that are capable of receiving and
responding to frames destined to FF.FF.FF:FF:FF:FF

the FIB used by switches matching known-source mac-
addresses to the layer one port they are learned on

the mechanism used by Compute NICs and
Switchports operating in half-duplex to detect and
recover from frame collisions

the segment of a network connected by a shared
medium, such as a hub, that is affected when two or
more frames are sent at the same time

Order

®
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Graphical user interface, application Description automatically generated

NEW QUESTION 7

Match the available stacking feature to the correct AOS-CX switch model. Stacking features may be used more than once.

Stacking Feature
VSF
VSX

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Stacking Feature

| VSF

| VSX

NEW QUESTION 8

Answer Area

Stacking
Feature

AOS-CX
Switch Model

6300M
6300F
8320
8400
6400

Answer Area

Stacking
Feature

VSF

VSF

VSX

VSX

AOS-CX
Switch Model

6300M
6300F
8320

8400
6400

Which two options are correct regarding the IEEE 802.11ax standard? (Choose two.)

A. allows transmissions of up to 4.8Gbps

B. is an emerging satellite connection standard to allow wireless access anywhere in the world

C. operates only in the 5GHz similar to 802.11ac
D. operates in both the 2.4GHz and 5GHz radios bands
E. is the first WLAN standard to no longer use electromagnetic signals to transmit data

Answer: AD

NEW QUESTION 9

Which command can be used to find the serial number of an Aruba OS-CX switch?

A. The command inventory
B. The command version

C. The command show running-configuration

D. The command show system

Answer: D

NEW QUESTION 10

Which option correctly describes a WAN network?
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A. a group of computer resources that communicates between geographically separate location
B. the connection between two separate buildings in the same campus

C. a network of devices over long distances but limited to within a single ISP

D. compute resources that are networked locally over wireless

Answer: A

NEW QUESTION 10
Refer to the exhibit.

Ethernet adapter Ethernet 3:

Connection-specific DNS Suffix
Description . . . . . . . . . Killer E2200 Gigabit Ethernet Controller #2 #2 #2

Physical Address. . . . . . . D8-CB-8A-17-8D-ED
DHCP Enabled. . . . . . . . . No

Autoconfiguration Enabled . . Yes

Link-local IPv6 Address . a + feB0::dlea;:377f:5154:9153%3(Preferred)
IPv4 Address. . . . . . . . . . : 192.168.1.10(Preferred)

Subnet Mask . . . . . . . . . . . : 255.255.255.0
Default Gateway . . . . . . . . . : 192.168.1.1

What is the correct binary conversion of the last two hexadecimal characters of the physical address?

A. 1101 1000
B. 1110 1101
C. 1001 1111 0101 0011
D. 1000 1101 1110 1101

Answer: B

NEW QUESTION 15
Refer to the exhibit.

SWlgs show wvlan

el ®

.......

The above command was applied to an Aruba AOS-CX 6300M 24-port switch with 4-port SFP56 uplinks. All ports are set as access switchports.
Which ports carry VLAN 1 traffic?

A. 1/1/8, 1/1/10, 1/1/5-1/1/24
B. 1/1/1-1/1/28
C. 1/1/1-1/1/24
D. 1/1/8-1/1/10, 1/1/5-1/1/28

Answer: D

NEW QUESTION 20
What are two OSPF attributes within the hello messages that must match to successfully establish neighbor relationships? (Choose two.)

A. Router ID

B. Priority

C. Hello and Dead intervals
D. Area ID

E. Process ID

Answer: CD

NEW QUESTION 21
Refer to the exhibit.

Your Partner of IT Exam visit - https://www.exambible.com



@ exambible

We recommend you to try the PREMIUM HPE6-A72 Dumps From Exambible
https://www.exambible.com/HPEG-A72-exam/ (88 Q&AS)

Switch-A

N

/
2/1/1||2/172

Switch-B

Firewall

The above scenario shows a packet from the Server destined for the Firewall. Switch-A and Switch-B are bundled as VSF stack. The LAG between the VSF stack
and the firewall indicates a hash function to forward the packet on port 2/1/2.
Which statement is true regarding how Switch-A will forward the packet?

A. Switch-A will forward the packet on port 1/1/2. VSF will override the typical LAG hash function used for the physical interface selection.

B. Switch-A will drop the packe

C. Multi-Chassis lag to multi-chassis lag is not a supported feature of VSF.
D. Switch-A will encapsulate the packet using GRE to forward to Switch-B in order for the packet to egress on port 2/1/2 per the hash function.
E. Switch-A will forward the packet along the VSF link to Switch-B so that it will egress on port 2/1/2 per the hash function.

Answer: D

NEW QUESTION 24

Which switches support Aruba Virtual Switching Extension (VSX)? (Choose two.)

A. Aruba 6405
B. Aruba 2930F
C. Aruba 8400
D. Aruba 5406R
E. Aruba 8350

Answer: AC

NEW QUESTION 27
Refer to the exhibit.

Access-1

VLAN-20 > 1/1/3

Allowed VLANs
1,10,20,255

1/1/28

Access-2

1/1/28

—

-

PC-1

IP : 10.1.20.100/24

All switches are running Aruba OS-CX. While working in the terminal of Access-2, you are unable to reach Server-1 using SSH.

ﬂ

—>
L ——
Mgmt interface
IP:172.16.1.110/28

Server-1

IP:172.16.1.97/28

What is the correct command to ping Server-1 from Access-2 to test reachability?

A. Access-2# ping6 172.16.1.97 vrf mgm

B. Access-2# ping 172.16.1.97
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C. Access-2# ping 172.16.1.97 vrf default
D. Access-2# ping 172.16.1.97 vrf mgmt

Answer: D

NEW QUESTION 30
Refer to the exhibit.

watchlog/3
dbus—daemon
intfd
extd4-rsv-—conver
scsi eh ©
cpuhp/3
kworker/4:0
s¢si tmf 4
kworker/5:1H
smartd
fault-handlerd
btd

portd
migration/4
scsi tmf 1
kworker/2:0H
kauditd

rmond

certmgr

icmp6 unreachab
Core—1#

The above output is the result of issuing the command show system resource-utilization. What command should be used to enable terminal output line by line or
page by page?

0
D
0
D
0
D
0
D
0
D
0
D
0
D
0
D
0
D
0
0

A. The command page

B. The command terminal length 30
C. The command more

D. The command less

Answer: A

NEW QUESTION 34

What are two primary concerns regarding layer two loops in a redundant topology? (Choose two.)
A. routing loops

B. costs associated with upgrading from copper to fiber

C. multiple frame copies leading to instability of the MAC address table

D. security issues with a redundant loop indicating to hackers that a back-door exists

E. broadcast storms

Answer: CD

NEW QUESTION 35
Refer to the exhibit.

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM HPEG-A72 Dumps From Exambible
exam bl bl e https://www.exambible.com/HPE6-A72-exam/ (88 Q&AS)

Core-1# show interface mgmt
Address Mode static
Admin State up
Mac Address 90:20:c2:
IPv4 address/subnet-mask 10.1.1.1/2
Default gateway IPv4 10:1:1:254
IPve address/prefix

IPv6 link local address/prefix:
Default gateway IPvé
Primary Nameserver
Secondary Nameserver
Core-1# ping 10.1.1.254
connect: Network is unreachable
Core-1¢%

What change on Core-1 will result in a successful ping to 10.1.1.254 from the management interface?

A. Use the command ping 10.1.1.254 vrf mgmt

B. Use the command ping 10.1.1.254/24

C. Change the Core-1 management address to 10.1.1.1/25 first
D. The destination 10.1.1.254 requires configuring a static route

Answer: A

NEW QUESTION 36
With what other technology does Half Duplex communication closely match?

A. a pair of fiber optic strands allowing transmit on one and receive on the other at the same time
B. a mobile phone call

C. point-to-point connections between two switches allowing concurrent transmit and receive

D. CB radio using push-to-talk

Answer: D

NEW QUESTION 38
What are the commands to disable SSH and HTTPS services from the default VRF?

A. Core-1(config)# no ssh server Core-1(config)# no https-server

B. Core-1# no ssh server vrf default Core-1# no https-server vrf default

C. Core-1(config)# no ssh server enable Core-1(config)# no https-server enable

D. Core-1(config)# no ssh server vrf default Core-1(config)# no https-server vrf default

Answer: D

NEW QUESTION 43
Which command will suppress LLDP messages from egressing on a given port while still allowing LLDP to be enabled on the switch?

A. switch(config-if)# no lldp interface (port) transmit
B. switch(config-if)# no lldp transmit

C. switch(config-if)# no lldp receive

D. switch(config)# no lldp

Answer: B

NEW QUESTION 44
Refer to the exhibit.

Mstr
+-——+ +--—+
| 2 |1==1| 1 |
+——=+ +-——+

Access-1(config)# '

What VSF command produces the above output?

A. show vsf member
B. show vsf link

C. show vsf topology
D. show vsf detail
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Answer: C

NEW QUESTION 49
Your customer has 349 users in a two-story building. What are two benefits of a 2-Tier design? (Choose two.)

A. Layer 2 and Layer 3 protocols run close to the endpoints to better implement ACL and QoS policy at the edge.
B. Improved performance by offloading processing from the Access layer to the Core.

C. Use of layer 2 switches at the access layer can process and route traffic from attached APs.

D. Support for WAN/MPLS, Internet, and Data Center directly on the Collapsed core.

E. Provides a more cost effective solution given that no additional switches are required for a third tier.

Answer: AE

NEW QUESTION 53
What is the Link Layer Discovery Protocol?

A. a discovery protocol used between Layer 3 devices to determine routes within a single autonomous system

B. a standardized IPv6 neighbor discovery protocol used to replace the ARP and broadcast mechanism used in IPv4
C. a standardized protocol for communicating directly-connected device information and capabilities.

D. an Aruba proprietary discovery protocol supported in all Aruba switches along with Cisco Discovery Protocol or CDP

Answer: C

NEW QUESTION 57
Which two port characteristics must match between LAG interfaces? (Choose two.)

A. Port number

B. Duplex

C. Member ID

D. Media type

E. Chassis number

Answer: BD

NEW QUESTION 61

The following command is issued: Switch# checkpoint rollback start What is the result?

A. The command will fail because rollback commands must be issued from global-config mode.
B. The switch will revert the running-configuration to the checkpoint called 'startl without a reboot.
C. The command will fail because it is incomplete.

D. The switch will use the checkpoint 'rollbackl as the starting configuration on next reboot.

Answer: B

NEW QUESTION 66

What are two mechanisms supported on AOS-CX 6300 switches used in Multi-active Detection to determine the status of the Primary member? (Choose two.)

A. Management interface split detection
B. Peer switch-based detection

C. Loopback keepalives

D. ARP-based

E. BFD

Answer: AD
NEW QUESTION 67
Which statement is correct regarding powering an Aruba Access Point?

A. PoE or PoE+ is only used with Ethernet that is carried over multi-mode fiber cabling.

B. Using switchports for this reason is unnecessary, because Aruba Access Points typically use an AC to DC power adapter to draw power.
C. PoE or PoE+ enabled switchports are rarely used given concerns about causing electrical interference, with the data also carried over Ethernet cabling.

D. Most administrators use PoE or POE+ enabled switchports to provide both Ethernet connectivity and power to the AP.

Answer: D

NEW QUESTION 70
Refer to the exhibit.
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switch-1(config)# show spanning-tree | exclude Disabled

4— ---- output omitted ---—»
Port Role State Cost Priority Type
111 Designated Forwarding 4000 128 point_to_point
Lagl _ Forwarding 2000 64 point_to_point
1/1/2 Designated Forwarding 10000 128 point_to_point
1/1/3 Designated Forwarding 20000 128 point_to_point

Switch-1 is not the root bridge. The ports shown are all the connected pointtopoint interfaces. What Role
(hidden by the blue rectangle) will be assigned to the Lag 1 interface?

A. Alternate
B. Backup

C. Root

D. Designated

Answer: C

NEW QUESTION 71
Refer to the exhibit.

Root Switch
Core-1

Non-root Non-root
Access-1 Access-2

All four switches in the diagram have been configured with the region name "Arubal".
What two other MSTP configurations must match for switches within the same MST region? (Choose two.)

A. MST region type

B. MST Bridge ID

C. MST version number

D. MST revision number

E. MST VLAN to instance mapping

Answer: DE

NEW QUESTION 72
Refer to the exhibit

Access-1(config)# show vlan

e T e E e M et s s st syt g sl S st st st E——— s T s pt—] p————" C R s S sy S B It St s st s s Sy —_. B S P HO T ms

VLAN Name Status Reason Type Interfaces
1 DEFAULT VLAN 1 up ok default 1/1/1-1/1/28
20 Engineering down no_member port static

What is true regarding VLAN 50 according to the diagram above?
A. VLAN 50 is part of a switched virtual interface (SVI) that was never routed causing it to be down.

B. Since VLAN 50 has not been assigned to any enabled physical port, the status is down.
C. VLAN 50 is assigned only to Trunk ports which is why no ports are listed under interfaces.
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D. VLAN 50 was never added to the vlan-database and therefore is in a down state.

Answer: B

NEW QUESTION 73
What connectivity commands are available on AOS-CX switches? (Choose two.)

A. netstatus

B. traceroute
C. ping

D. pathping

E. tracert

Answer: BC

NEW QUESTION 76
What is the correct description of a Multi-Layer Switch?

A. a switch with Layer 3 routing capabilities but lacks any Layer 1 features as a consequence

B. any switch that supports PoE, LLDP-MED and Flow Control

C. has all the functionality of a Layer 2 switch and most of the functionality of a Layer 3 router

D. multi-Layer refers specifically to using chassis switches with several line cards over stack port switches

Answer: C
NEW QUESTION 80

ServiceOS login: admin SVOS> password
Enter password: ******** Confirm password: *****x+*

The login password to access an Aruba AOS-CX was lost. After connecting to the switch console port, a reboot is performed and the Service OS console is

accessed as shown above.
What is the default password that is required for the admin account while under the Service OS console?

A. No password is set for this account.

B. "password"

C. "forgetme!"

D. The same login password that has lost originally.

Answer: C

NEW QUESTION 83
Which two options are the Layer 2 protocols? (Choose two.)

A. 802.1Q
B. IPSec
C.STP

D. RIP

E. 802.11af

Answer: AC

NEW QUESTION 87
Which two options are the Layer 3 Routing protocols? (Choose two.)

A. BGP

B. LLDP
C. OSPF
D. MPLS
E. 802.3ad

Answer: AC

NEW QUESTION 90
You have completed a successful VSF stack between two switches.

Without manually assigning a backup switch, what is the expected output when issuing a show vsf command?
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A T1-6300-A# show vsf
<omitted>
Mbr Mac Address type Status ID
1 88:3a:30:a3:e5:40 JL660A Commander
2 88:3a:30:a6:d9:80 JL660A Secondary

T1-6300-A# show vsf
<omitted>

Mbr Mac Address type Status ID

1  88:3a:30:a3:e5:40 JL660A Primary
2 88:3a:30:a6:d9:80 JL660A Secondary

€ T1-6300-A# show vsf
<omitted>
Mbr Mac Address type Status ID
1 88:3a:30:a3:e5:40 JL660A Master
2 88:3a:30:a6:d9:80 JL660A Member

®  T1-6300-A# show vsf
<omitted>
Mbr Mac Address type Status ID

1  88:3a:30:a3:e5:40 JL660A Master
2 88:3a:30:a6:d9:80 JL660A Standby

B.

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 95
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